
SAP ABAP table PLLGA {Incentive Wages: Group Time Tickets}

PLLGA

LSTYP [CHAR (2)]

SBUKR [CHAR (4)]

SWERK [CHAR (4)]

SGSBR [CHAR (4)]

SKOST [CHAR (10)]

EBUKR [CHAR (4)]

EWERK [CHAR (4)]

EGSBR [CHAR (4)]

EKOST [CHAR (10)]

EKKRS [CHAR (4)]

MEINH [UNIT (3)]

VGE01 [UNIT (3)]

RUE01 [UNIT (3)]

SOE01 [UNIT (3)]

VGE02 [UNIT (3)]

RUE02 [UNIT (3)]

SOE02 [UNIT (3)]

VGE03 [UNIT (3)]

RUE03 [UNIT (3)]

SOE03 [UNIT (3)]

VGE04 [UNIT (3)]

RUE04 [UNIT (3)]

SOE04 [UNIT (3)]

VGE05 [UNIT (3)]

RUE05 [UNIT (3)]

SOE05 [UNIT (3)]

VGE06 [UNIT (3)]

RUE06 [UNIT (3)]

SOE06 [UNIT (3)]

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 PLLGA-EKOST = CSKS-KOSTL 

0..N

0..N

 PLLGA-SKOST = CSKS-KOSTL 0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 PLLGA-EBUKR = T001-BUKRS 

0..N

0..N

 PLLGA-SBUKR = T001-BUKRS 
0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 PLLGA-EWERK = T001W-WERKS 

0..N

0..N

 PLLGA-SWERK = T001W-WERKS 
0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 PLLGA-MEINH = T006-MSEHI 

0..N

0..N

 PLLGA-RUE01 = T006-MSEHI 

0..N

0..N
 PLLGA-RUE02 = T006-MSEHI 

0..N

0..N
 PLLGA-RUE03 = T006-MSEHI 

0..N

0..N
 PLLGA-RUE04 = T006-MSEHI 

0..N

0..N  PLLGA-RUE05 = T006-MSEHI 

0..N

0..N  PLLGA-RUE06 = T006-MSEHI 

0..N

0..N
 PLLGA-SOE01 = T006-MSEHI 

0..N0..N  PLLGA-SOE02 = T006-MSEHI 

0..N

0..N

 PLLGA-SOE03 = T006-MSEHI 

0..N
0..N

 PLLGA-SOE04 = T006-MSEHI 0..N0..N

 PLLGA-SOE05 = T006-MSEHI 
0..N0..N

 PLLGA-SOE06 = T006-MSEHI 

0..N

0..N

 PLLGA-VGE01 = T006-MSEHI 

0..N

0..N

 PLLGA-VGE02 = T006-MSEHI 

0..N

0..N

 PLLGA-VGE03 = T006-MSEHI 

0..N

0..N

 PLLGA-VGE04 = T006-MSEHI 

0..N

0..N

 PLLGA-VGE05 = T006-MSEHI 

0..N

0..N

 PLLGA-VGE06 = T006-MSEHI 

0..N

0..N

T703L

MANDT [CLNT (3)]

LSTYP [CHAR (2)]

 PLLGA-LSTYP = T703L-LSTYP 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 PLLGA-EGSBR = TGSB-GSBER 

0..N

0..N

 PLLGA-SGSBR = TGSB-GSBER 

0..N

0..N

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 PLLGA-EKKRS = TKA01-KOKRS 

0..N

0..N


